Chapter 6
FRU (Field Replaceable Unit) list

This chapter gives you the FRU (Field Replaceable Unit) listing in global configurations of AL1715. Refer to this

chapter whenever ordering for parts to repair or for RMA (Return Merchandise Authorization).

NOTE : Please note WHEN ORDERING FRU PARTS, that you should check the most up-to-date information available
on your regional web or channel(http://aicsl.acer.com.tw/spl/). For whatever reasons a part number change is
made, it will not be noted in the printed Service Guide. For ACER-AUTHORIZED CERVICE PROVIDERS, your
Acer office may have a DIFFERENT part number code to those given in the FRU list of this printed Service

Guide. You MUST use the local FRU list provided by your regional Acer office to order FRU parts repair and
service of customer machines.
NOTE: To scrap or to return the defective parts, you should follow the local government ordinance or regulations on

how best to dispose it, or follow the rules set by your regional Acer office on how to return it.

45



Model:AR578

€2
.
i
5
[}
w
n
—|8
O
§
>
=
g.
CE
V]
AW
<
0
Ko
I~
0

FOR HYDIS PANELCARS/8)

REV
582750 | DA

| SHEET | IRAWING NO
3

zE
A3




C. For AR578 (Acer model:AL1715)
No. Photo Part Name Description Part No.
1 “ Back Cover Screws | M4X0.7+6P-NI MAA20093004
2 f i ) BaseASSY(FOOT) |AR7714A(ABS94HB,MCG62) FAAR7714A10
M4X0.7+11P-MC
3 ‘ ‘ Stand Screws WASHER DIM 8.0 MAA70002400
4 - NECK COVER AR7721(ABS94HB,MCG62) |FAAR7721100
6 ' NECK BRACKET  |AR7722(SECC1.0) ECAR7722000
7 H HINGE ASSY AR7717(SK-7,T=22) =CAR 7
8 NECK AR7713(ABS94HB.MCG62) |FAAR7713100
9 Panel & Chassis M3X0.5+41-NI MAA00001240
10 M Function Board VK-583 LAR578Y 454AAP30011
F BACK COVER, Neck
1 & Neck Bracket, TPP-4.0+10P-NI MAB20074201

Chassis & Bezel




12 BackiCover AR7812A(PC+ABS,MCG62) |FAAR7812A10
13 Hinge Screws TPB-4+8C-MC MAB7T002401
. | a#40UNCX12.7

14 Mainboard & Chassis PLS-WASHER MAAA0019400
POWER BOARD

15 Al M3x0.5+6F-ZK MAA10022007

16 VP-583 LAR578Y 453AAP30011

17 Key/B & Bezel TPP2X3+12B-MC MABS0007400
POWER BOARD

18 Ao M4.0X0.7+8BTF-MC MAAS0014400

o | ¢ " RSP | wemowmexew: | sooissm

20 Main Shield AR7816(TINO.3) ECAR7816000

21 Mainboard and M3X0.5+4C-NI MAA70003100
Invertor Board Screws

22 VL-731 LAR578Y ABO 461AAI300E2

55




23 Frame(BEZEL) AR7811A (PC+ABS,MCG62) |FAAR7811A10
24 Main Frame/CHASSIS |AR7715(SECC1.0) ECAR7715000
25 Caneord 1oL | yps77 PANEL-CTRLIOP | DCO20160700
2 LCDPanei(F) | HTI7E12:200 17'(HYDIS)  ACBV0000200
27 LCDPanei(®) |HTI7E12-200 17'(HYDIS)  AC6V0000200

56




Chapter 7

Schematic Diagram

T T T v 3
W T B EE ey e e
41 VY107
saqun wownsog | o
(LLEST/LLSANTELTIA 8/THLD “DILYWAHD'S
oy
9ASAZ
9ASAZ
raz
Nd v
saz =
#0S1 vTId v 1201rT T
€€ 61 e
€ VDad, > > 7as .
vqsoad T M vwm
€ voaa 135-5ad T [ 9 N
€€ 8T SN
SLt MLt =N
ST ars
1
—— NN~
MNLIF/ON €1
ML €T =
BRI
ATT
133
o1n
L
(e
€€ 0T
4 ONASA - -
0
= amn am
= B '€
—_— —_— DE-Dd
N
44 o N
#dee MTe 3
S 5 9ASAZ
<o L1D frmed
e aday, reuondo T o IEl ¥ zaz
ATHL o o
aaa
_ . 10190UU00
: ONA SH - v < T EREN
9 €€ o = ~
Vi - wweoT
HOLId
0 n 1
T
N5 L
A 9
z T
“ R
T Lt 1 TeL i
T
2 T
z +aa 0 . 5
noo 0 EEE| Lad ~—
T NHENO, S— ND
80 Ly 98T L
€L 1
2]
0
n0°0 9 0 sad vad
z OILASHA ¥ $06E L111 MDHHD
R 1) 1 TeL
= (]
i IOAT % €
) 0 T £
AT
n1o’0 € 0 cad Tad _ﬂ«r

T 00§

N TdZ

65



ol

9

T EA A SN W ST
Y105
gy oo | oa =
(LLSSALLSANIEL7IA S/THLD DLIVNAHOS 1
i
dogLy noo
dstasn €00 19 IS WATTOS NI SIILL
THAOW ST
= - T ds1dIT dooLy 8100 dO0LY AOUEVVA
= ZHNTL S
oci00 dost P IA £Xd TR v TIAAN NI
890 | L9 990 @_ €93 Tr 0P TAA TP 2SN THIXAN NI
aa S00£d1TNIE H Hﬁ 170 140 0 ord
<rad Wi s ,
v olaxa !
el
4 O1aX; L
A
v ad R R E—— - -
aan ; o '
| dooon '
I AVRD . l
65 860
Cpppbires T = :
mE<S50>00<<<TrEE<00
775 S00F7 B30 e T St Astidpo0n ,
L TEESERETESSRETYL B L )
#2R°2 4§ @ et T
1o - ) S00¢d 17wIA
v Ao . h
v N P, oy
oo o ro i ' E 503
; o . S0UEd T TNTE ATA
' y T ; NASH 1
vV S , PRt LYY = S
tad o Tiad
T b HVZLAOKL e et ey - - ot - - - - T 08 N[ HOd SISIAL
5 XL LaNiamd [UE ] =
7 2N q A9UnO0L
: FR
14 3 am e
v T_ANT_AA o
v ANt —aau [ TC ]
v TIdAN [N e
v SADT
—_— (11 AZAdADD
Pl l4 AT I o wam—
. 4 e
0o e 4 £TVIVAH/ETANTNAD [T
\A T I3 COVIVAN/ZINT_NAED ST
0 heo 13 TV IVAI/ T~ ANT-NAE
- O7VIVAHT0 AN I N
Ald [T
v dzus ASAAA
v Noug LTaNg e I
v divd 9maNI g [T
v Nrig ANy
. v RIS PN []
ATAA 4 No8 Z £TANTTTE [
998 N
g o8 NI
g b o
A AAR R SO —
S 838 0%
Z 222
bt et "G
odaba BHan
S0 z5 A
VOV S
I EF
E
S
S00¢d1 V18 R h TW
e
M -
aan
aany—4 PoooA®i
v diog ou e
v NI
aan I a0 ot o
PR 00T e vas ¢
PN oo e s
v dzag CLasE €
v Neds
T dla TOTNGD 0T o
P Noa [ g
v HOL.
v OIAX; (13 Lz €L
i3 SR FTE AV e e e e e e e oo
9 TOTEA NP , Mmoo <01
< g I S < 10
* TLOAAA ! . . o Tl<-00,
- - b ' [z:g oD o110
TN SOt T . .
aan R
9 OWMd

TOMNGS

St

o

66



£l I T 5 T
T Ty A e M e T
q wvior
saquiy wawnaog | o
(LLESA/LLEADOTL A €/THLD “DILVWHHOS
ol

ww o7 =

SXTLST

MLy 88y

NID aF1

MLy 98y

183
0
= o
w 20A 20A
20A
10109UU0) pIrOqAIRY
i3l
go1d = =
ds-¢ 131 - =
H #dTT
o L Lo | ¢ q91071vT | ON
018XVIN g = e
20A FLY
no LY
T gL
R €€ €€
[5)
DT 1508 coa | od
T 20A
1 vas-voaa L L .
otz s
1 10§-¥od TEE 2
= 0tz L = @ 3B
axd / 0°ed ~~
0 ﬁ”w aXL/ 1'ed ]
LTl pmam i, 4 S
Seved NaSd o
1AM/ 97 ¢d
U aw /o
_ 4
T TOTEA
TRTOT 93 P 200
1 1DALAd-Dd T
H 9's-01d0Y o =
- . P =
T LODSVIN LHSHY
*g
ont
g
1 TAS-SAWT
: s
[CERICEN]
NIIID qdT 4
5
mea o1
.
fluo vuy W
19S-SANL
DAY

67




7
g DY i P T

WV10¥
soquan swownoeg | o

(LLSSF/LLSADTELIA €/THLD “OLLVWHHOS

100 LOd SWOT=>9L *CL=>0
SPLE>SWOOTTEL =>SW 00T * $W T=> L =>0° SWO[=>[L =>50

LdD ¥Od €1 =>SW 00T sW Og=> L >0 " SWOL =>9L' L vL' 1L >0
TILDAAA-9L- TTILOAAA-CL-VIVA- FL-LHOTTIOVE-€L-VIVA-TL- ITILOAAA - TL-TILOAdA

LTIS
= POGELININ

T

90 ¢

L c_\,_éziw
nro
T

RAVEE66TS/SC
80

So0gd1aN1

or

< TDAAA

ATINVD 9

A

90T
oLy

NAN VNEFT1DLA

HST 1-d0EVY 14a

et

00Xd

e

< ad @

AINO 6653V MOA#ALT

ocId

+VZLN0XL
VZINOXL

HETTOYL
SN IOXL

TANVd OV JOd ST.LT

683 Qulﬁ 807,

0

00N GON =
HSS0-S06-T 1Hd 12d <oty '
Wi =
o °.
610
7 W
T 1
: - 1 aaa
8 _sasoe
H : aas
Lt =
5
HE < HSS0°50£-C
£c z
¢ z
6C <
ST
it an ¢
5¢ N ¢
5 Nous
ve aoui ¢
€C Nowd € a¥108
44 iod
iz N1 ©
0¢ N €
ol
H +VZLNOXL T
L1 VZINOXL €
9
5 z
i H
0 Nead
60 AN 1OX
sol S0 1 a1 aiag
] ——— Nidd
50 z
<0 z dogg
0 Nodd
€0 z
20 z L]
i VFND

an

a Ae A

Qe

Qe

4 SASH LdD/1AD 104 !

68



[ I T | € [ v | <
L JO 9 [EELE| £00C 61 ToqUIDIdo S ATPIL]  Tare(|
q1 IVV 10
Ay I19qWINN JUaWNI0q oz g
(LLSSA/LLSANTELTIA 9/THLD “DILVINIHO S ANINO
LT LLS AV /AL /dA/Al/Sd 04
0 LIT¥
ds9 L6
. . . JI_J 0 . . . . .
- | T T Sy MOT FIIY - T | T T T
] S T YWt TWAY Tt . )
P ITI T novaecr L oy Ly Lo
] =R po =
Wv:m Wm:m b -PPE S6D 3 96D
L L = ® m<<<<< dN -
(9] N OCUunnnn
w:. 5 Suunngedig -z
N LN -
11-10SY 199 T 6014
I g 100+ AN L b AT SHALON €
i
ol = r6D umopinys [A%y ULk S o1anv-dd 9°¢
6 &zo@ 00T 0 non gz € LNO- < < r
8 A
8 ¥-dH T T N MH d .
w 3 ddi L0TY " N [OA DA | MTOA DA €
¢[9 san WVt 8ESYINT = = =
& [CINDV 00T 901d 60 oA -
[ LA 6 T BILY | #ILY
L = a A M0TSOTA | -
S = o1 OT gl YOI 2 €01y €0-10St Ixd
T
zord o VLo v oA €60 . - ;
10END €T T YW z
v 100- Q ooV UA MOTIOTA I M0TOQ 1A c
LT 5 . [ C T cY I
AO1/AN0TC T6D N 5 o w Q2% 5o m:mmo._ww M0T 664 To¢
o] = i NI OV
M1 Q66S/LLS AV MOA ON/AO0T S s 52w
863 69 S = =
98] 3] ol @2
- P 1o A€ 9/dN0LY 0o
9 OldOV-ARD——e - 680 88D 06D
v v JOT v6d
o1anv'a oranv'a v
o1anv*a oranv’a oranv’a o1anvya

69



T z T v T T T T
1o T [EEE| TO0C 6T A W |
WVI0Y ;
soquny wowmaog | oz
(LLSSH/LLSADTELIA €/TLD "DILYIWHHOS
oy

J“‘
|

NI L0 T ATV

A9L/ANLY
L L
= 104
M01
T
[ 0N Md V T
PO6ELANN M € B s olany-ARy—
S M1 0T
D0A
¢ olany-ad s dk] ano~olany
4 B
anv~orany
10
HIR)

fosn pg uo
€T TADTEA Y,

MLy 0cd

(IND~O1dNv

OHDD<<>

I

01-10S¥ w4

_:oo\h noo

T
T
! €
id
601D 801D LOTC T
90
ot S00£d 1T TE 0
el DOA < |0
€1 650
- 0T
= = = = = AS+:0150] 104
6ND
A91/:1001 . . ) DDA
o AO1/N0TT o o AO/N0ZT
9012
mofvfﬁ 01D ﬂ.C_UH €0 1D 660
T dDYEVVA . AAANAS
% 1 ’
! AAAY
ADIEVVA

ATINVAY

=]
g
O o—

>

}

ATI+12URd SASY LAD/IAD 1od
ATINVd

AS+:[autd SI9YI0 10

70




PCB Name-Rev : VP583-1

71




PCB Name-Rev : VP583-1

72




73




74




JO

[4 19905 £00C 0] 49quaidas Aepsoupop o]

A\
AY|

JoquinN Judwndoq ong

dVV 0T A\

LLSAVT €8S-MA 9/AEN DILVINHHO S

RUNY

dS-MS

ss

dS-MS  [dS-MS |dS-MS  [dS-MS
44N «N agl
o o o o o 1a
§TT
ol?S ol €S ol ollIS o yoyid
N} N} o o o Y/OW/STT/ETNOD
—
A_ddT T M
RNCER] < ¢
€
AAONO AT 7 .r.
dn_Add s m
NAMOd A=) 9 L
LHDI I L g
LATT AHA g 6
+1 [ o1
1 [
IT I
T o U
- eT
LdAdT L]
NS T/AITNOD r
w STl
yar1d
€
IHD I

INS'T/ITNOD

T
T

.n

75





